Mathematics

Algebra — 1 - Answers

Exercise A

1) 3z — 2(5z — 4)) + 2(3z — 5)
=3z — 10z + 8 + 6x — 10
=—x—2

22y +5(3y—1)—T(y+ 3)
=2y+ 15y —5-—-Ty —21
= 10y — 26

3)8 — 2x(4z + 3) — 3(5z2 — 2)
=8 — 82" —6r — 152+ 6
= —Rz? - 21r+ 14

4) 62° — 2z + 5(32 — 2) — (6= — 3)
= 62? — 22 + 152 — 10 — Gz + 3
=6z +Tx -7

5) 4z + 3z(2z + 3) — (52° — = + 8)
=dr + 62> + 92 — 52+ — 8
=z24+ 14z — §

6) —2y° — 3y(1 — 4y) — (6y — 4)
= —2y° — 3y + 12" — 6y + 4
=10y? — 9y + 4

732" — 42(22 — 5) + 82 — 3
= 3z° — 82° + 20z + 8z — 3
= 5?4+ 28z —3

8)10 + 2z — 3x(dr — 1) — T2* + 52 — 3
=10+ 22— 122> + 32 — Tz* + 52 — 3
=192+ 102+ T

9) —(4a® — 3a +1) + 2a(a — 3) + 52" — 2a — 3
= da’+3a—-14+2>—6a+52%—2a—-3
=30 —Ha—4

10) 2y(4y — 3) — 3y(5y + 2) — (4y” — 3y + 2)
= 8y’ — 6y — 15y° — 6y — 4y + 3y — 2

= —11y* — 9y — 2

M4z(5 — ) + 22 — 3(4z + 5) — 10z

= 20z — dz® + 22 — 122 — 15 — 10z

= —42? 4+ 0z — 15

= 42" — 15
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12)12 — 3(2z — 5) + 42 — 22(3z2 — 2) + 8
=12 —6r+15+4r — 622 + 42 + 8
= —6x" + 22+ 35

Exercise B

1.
a) (Ba + 7)(2a — 6)
= 10a? — 30a + 14a — 42
= 10a® — 16a — 42

b) (62 — T)(z + 2)
=622+ 122 — Tr — 14
=6z’ + 5z — 14

)z —4)(3x—T)
=322 —Tr — 127 + 28
= 3z° — 192 + 28

d) (4e + B)(3e — 8)
= 12¢? — 32¢ + 24¢ — 64
=12¢ — 8e — 64

e) {6y —4)(by +7)
= 30y? + 42y — 20y — 28
= 30y" + 22y — 28

f) (3a — 8)(5a — 9)
= 15a2 — 27a — 40a + 72
= 15a° — 67a + T2

a) (e + 1)(de — 2){c— 5)

= (4¢* — 2¢+dc— 2)(e - 5)

= (4¢* + 2e — 2)(e — 5)

= 4¢* — 20¢" 4+ 2¢* — 10e — 2¢ 4+ 10
= d¢* — 18¢? — 12¢ + 10

b) (a — 6)(2a + 5)(a — 5)

= (2a” 4+ 5a — 12a — 30)(a — 5)

= (2a® — Ta — 30)(a — 5)

= 2a” — 10a” — Ta® + 35a — 30a + 150
= 2a* — 17a® + 5a + 150
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c) (2b — 6)(b— 3)(b+ 4)

= (2b* — 6b — 6b + 18)(b + 4)

= (26> — 12b 4+ 18)(b+ 4)

= 2b* + 8% — 120 — 48b + 18b + T2
= 2b* — 4b* — 30b + T2

d) (y+6)(y — 5)(5y + 1)

= (y* — 5y + 6y — 30)(5y + 1)

= (v* +y—30)(5y + 1)

=5y* +y? + 5y° +y — 150y — 30

= 5y + 6y® — 149y — 30

e) (v +6)(y +1)(5y + 4)

= (y* +y + 6y + 6)(5y + 4)

= (¥ + Ty + 6)(5y + 4)

= 5y + 4y + 35y° + 2By + 30y + 24
= 5y + 39y” + 58y + 24
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